RRAE H23.4 H23.5 H23.6
HIZH i B £5 81 B 32 =LA EZH FAEE | & ZELARJL iEH R IEES KEELANIL
1 £ 23 70.7 H 2 70.3 7K 26 69.8
2 + 14 79.1 A 29 79.2 X 11 74.5
3 =] 23 72.9 PY 22 71.7 £ 21 70.7
4 A 26 69.9 7k 26 75.9 + 14 73.5
5 X 26 78.8 X 26 77.3 =] 10 71.5
6 7k 27 71.7 £ 24 81.6 A 23 75.0
7 A 27 75.1 + 1 67.9 X 28 88.7
8 o 3 81.2 =] 11 68.5 7K 10 74.5
9 + 2 60.9 A 30 80.4 X 18 82.0
10 B 14 69.2 Y 22 72.1 o 24 75.9
11 A 24 70.8 7k 7 69.6 + 1 64.9
12 PR 33 77.4 X 8 65.8 H 12 79.8
13 7K 30 82.1 % 28 75.0 A 20 91.3
14 x 30 72.6 + 10 68.3 X 28 74.4
15 Eo 10 72.9 =] 3 76.1 7K 25 72.0
16 + 9 69.8 A 9 74.0 X 17 76.8
17 =] 16 70.0 PY 26 83.4 o 2 62.2
18 A 22 74.3 7K 36 90.6 + 11 68.2
19 PR 32 76.1 X 30 81.9 H 12 72.0
20 7k 22 74.9 £ 27 77.2 A 21 82.3
21 A 29 76.4 + 16 72.3 X 18 72.1
22 Eo 16 82.4 =] 3 63.0 7K 29 72.7
23 + 2 69.4 A 37 82.1 X 9 70.5
24 =] 9 66.4 PY 22 74.2 o 2 73.0
25 A 17 72.6 7k 22 90.9 + 9 72.2
26 PR 26 88.2 X 44 89.2 H 1 58.9
27 7k 5 75.9 & 23 68.6 A 5 74.4
28 A 31 76.4 + 1 59.9 X 15 66.8
29 £ 28 82.0 =] 2 70.5 7K 17 72.1
30 T 9 73.3 A 3 68.9 N 11 71.6
31 Y 29 80.7
AR&RXI{E 33 88.2 HARImXIE 44 90.9 ARImXIE 29 91.3




RRAE H23.7 H23.8 H23.9
HIZH i B £5 81 B 32 =] 581 [ 2% ZELARJL iEH R IEES KEELANIL

1 £ 10 14 70.6 X 6 89.6
2 + 11 X 17 72.9 £ 0 —
3 = 12 7K 13 70.1 + 2 73.0
4 A 5 X 6 68.4 = 3 67.2
5 X 16 Fo 6 85.2 A 5 71.9
6 7k 11 + 1 68.1 PR 6 73.8
7 /N 18 H 3 64.6 7k 7 71.2
8 & 18 A 3 84.6 X 8 71.5
9 + 11 X 6 74.5 £ 7 92.9
10 B 8 7K 5 72.6 T+ 5 71.7
11 A 13 X 9 72.5 5] 9 69.7
12 N 14 * 3 68.6 B 14 71.3
13 7K 17 + 2 64.5 X 23 87.8
14 X 19 = 2 69.0 7K 17 80.6
15 B 14 A 3 72.4 X 26 84.1
16 + 13 PR 1 64.9 & 15 76.8
17 B 12 7K 6 72.9 + 7 84.6
18 A 9 X 4 70.4 H 11 72.0
19 X 3 % 4 65.7 A 18 70.3
20 7k 0 + 1 60.8 X 6 68.4
21 A 11 = 0 — 7K 0 —
22 % 24 A 1 71.5 X 19 72.9
23 + 20 PR 2 75.4 o 27 67.6
24 H 11 7k 3 66.8 + 26 76.0
25 A 16 PN 1 73.9 H 19 69.2
26 X 10 Fo 0 — )z 28 72.7
27 7k 24 + 0 — X 36 71.8
28 A 17 H 2 71.5 7K 30 69.8
29 £ 17 H 3 79.0 X 31 74.1
30 + 10 PR 1 76.2 £ 22 75.1
31 = 7 7k 0 —

AR&RXI{E 24 B 17 85.2 ARImXKIE 36 92.9




RRAE H23.11 H23.12

HIZH = AEELANIL EH ERIEE FLA)L iEH [ ERIIEEN KEELANIL
1 T 69.5 X 26 67.8 X 12 75.4
2 H 72.8 7k 19 70.2 £ 23 73.5
3 A 69.9 A 19 70.9 + 5 73.4
4 X 73.5 £ 17 69.8 =] 17 74.5
5 7k 67.6 + 5 65.8 A 26 75.2
6 A 72.2 =] 3 63.9 X 38 78.1
7 £ 75.8 A 21 68.5 7K 32 74.8
8 + 68.4 P 31 87.3 /N 19 70.7
9 =] 68.7 7K 25 76.2 o 20 72.4
10 A 72.7 S 22 76.5 T+ 13 71.2
11 PR 71.2 % 0 5] 11 72.8
12 7K 72.7 + 12 69.3 A 31 78.4
13 X 76.6 =] 20 70.5 PR 22 81.9
14 & 77.2 A 24 68.2 7k 27 81.6
15 + 65.0 N 26 76.4 A 34 74.5
16 B 78.0 7K 19 74.1 % 17 68.4
17 A 71.3 A 33 71.7 + 20 71.7
18 X 71.5 & 37 79.4 =] 13 68.7
19 7K 78.5 + 3 80.5 H 17 70.6
20 N 75.5 =] 16 70.2 N 28 80.7
21 & 74.1 A 42 77.4 7K 28 70.7
22 + 69.7 P 36 70.6 A 21 73.7
23 B 76.1 7K 21 94.8 £ 18 70.2
24 A 85.8 A 26 72 + 15 71.3
25 X 69.8 & 21 77.2 =] 19 67.7
26 7K 78.0 + 15 69.9 )z 12 72.3
27 X 73.1 =] 16 76.5 X 19 66.0
28 £ 75.5 A 18 72.8 7K 17 81.2
29 + 76.4 P 25 84.1 A 24 70.3
30 =] 70.7 7K 41 93 £ 20 69.9
31 A 73.5 + 17 71.6
X 85.8 A& XIE 42 948 AMmXIE 38 81.9




FEAE H24.1 H24.2 H24.3

HIZHE i =] FUREE | RABEELANIL iEZH FAIELR | RABELANIL iEH AR | RARESELANIL
1 =] 13 70.6 7K 28 85.9 X 32 75.8
2 A 12 70.0 A 12 74.1 Foy 8 77.7
3 X 16 69.9 & 19 78.0 + 18 78.5
4 7K 27 69.9 + 11 76.0 =] 10 69.6
5 A 18 73.4 =] 14 91.5 A 4 66.7
6 o 16 78.3 A 22 84.7 P 22 74.8
7 + 18 76.9 X 14 78.1 7K 19 80.9
8 =] 23 76.2 7K 39 89.0 PN 25 71.9
9 A 20 69.7 A 24 72.0 % 12 72.4
10 Y 26 83.8 2 23 78.2 + 8 81.1
11 7K 25 78.6 + 17 77.4 B 20 76.9
12 A 26 73.1 =] 11 65.8 A 26 78.4
13 £ 21 75.5 H 19 72.9 Y 24 75.3
14 T 15 71.4 N 14 79.5 7K 26 78.8
15 =] 69.5 7K 18 70.4 X 13 75.9
16 A 19 71.6 K 20 71.8 % 23 92.3
17 N 21 71.5 £ 20 70.4 T+ 0 —
18 7K 32 75.5 + 10 79.2 = 10 67.8
19 A 34 76.9 H 15 82.0 A 14 76.6
20 £ 72.9 A 21 84.6 Pq 24 78.1
21 + 12 78.3 PR 26 77.3 7K 35 78.3
22 H 11 83.7 7K 32 78.1 /S 23 76.8
23 A 25 87.0 A 14 80.7 £ 11 68.4
24 X 12 72.3 & 23 76.5 + 8 71.4
25 7K 30 82.7 + 4 62.3 =] 18 71.3
26 A 24 79.8 =] 16 77.4 A 26 68.8
27 £ 21 76.8 )z 13 83.5 P4 43 81.3
28 + 19 72.1 Y 27 80.5 7K 30 77.8
29 B 70.4 7K 4 68.7 S 37 81.4
30 A 25 81.2 + 9 71.6
31 N 31 79.0 + 1 61.2
BX 34 87.0 AMmXIE 39 91.5 AR KB 43 92.3
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